Solving One Step Equations Practice Name
We Do:
1 5x=30 | 3x=27 1 9x=36 112=2x

You Do:

| Tx=49 | 24 =3x | 8x =48 | 9x =45

1100 =4x | 12x =36 | 7x=63 | 8=8x

We Do:

x+3=8 Z=2 ‘ll=x+2 Zo4
6 8

You Do:

x+7=6 =5 ‘10=x+7 X_4
6 5




‘1=x+5 |3:ﬁ ‘6=x+6 '12=ﬁ ‘
7 4

We Do:

| 4x+2x=18 | 24=3x+5x | dx+x-2x=12 |45=3x+5x+7x |

You Do:

| 8x+x =81 | 7Tx-3x=24 | 6x+2x=48 140=12x-7x |

| 13x—5x-x=56 |3x+6x+5x=28 |42=3x+7x—-4x [140=Tx+5x—2x |
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| 24 =3x+5x
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| dx+x-2x=12

| 45=3x+5x+7x |

You Do:
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| 8x+x =81 | 7x-3x=24 | 6x+2x =48 | 40=12x—-7x 7)
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| 13x-5x—x=56 |3x+6x+5x?28 | 42=3x+7x—4x |140=7x+5x—2x |
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